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Mental Ability

Directions (Q. 1-6) There is a number series following
a Pattern. One place is left blank. Find the correct

1.

answer from the options.

42,48, 60,66,78

1) 68 2) 93

3) 101 4) 104

2, 3 4 3 9
V5 o 5 - sVs - 25
6. 6 s _6_
1 2y — 4

) 545 ‘5 Vs 12545
15,31,64,131,2

1) 266 2y 256

3 192 4y 524

In a certain code language " HEALTH" is written as
GSKZDG, then how will " North" be written in that
code?

1) OPSUI 2)  GSQNM
3) FRPML 4) IUSPO

In a certain code language if 'SIR' is written as 'PS P1
PR then'MAN’ can be written as

1} PMANP 2) PMPAPN
3) MANP 4) MPANP

Arrange the following words according to dictionary
arrangement

at Eagle b)  Earth

c) Eager d  Early e) Each
1Y aeb,dc 2} b,a,d,ce

3) b,ced,a 4) ec,a,db

Directions (Q. 7-8) The letters given below follow a
definite pattern. Find out the missing letters to

complete the pattern,
7. ba_cb__b__bab__
1) cabb 2) acbb
3) bcaa 4) bacc
8 ab___baa_ __ab__
1) baabb 2)  aabab
3) aaaaa 4) aabaa
9. Select the combination of numbers so that the letters

arranged accordingly will form a meaningful word

D 1 F E R N
12 3 4 5 6
1) 1,4,3,6,2,5 2)  6,4,35,2,1
3) 3,5,2,4,6,1 4) 5,4,3,2,6,1

WsfRa Garar

fsoem: (yEs 1-6) 35 fad ymst fev #at @ st fe'st
aret 3, fan o wiat v »irurt fda 31 vt gt 395 BEt

I.

fo'3 arg gg feasut feg nat €3993
42.48,60, 66,78
1) 68 2) 93
2) 101 4) 104
2., 3, 4 3., 9
V5 5 5Vs 25 ’
6 6 7 6
1) 5 2) & L 6
) 5V5 ) 125 3) 25 4)2s~!5
15,31,64,131,2
1) 266 2) 256
3) 192 4) 524

fai &% g8 fe'9 'HEALTH' § GSKZDG fafimr mrer
37§53 fes NORTH' & fa fafinr srrzar?

1) OPSUI 2) GSQNM

3) FRPML 4) TUSPO

. fai §= g feu & 'SIR' & PSPIPR fafipr afer § 3t

g aw g feg 'MAN' §fae fafinr Araar

1) PMANP 2) PMPAPN

3) MANP 4) MPANP

feS e FETT § HECOR T QU MEAE AT |

al Eagle b) Earth

¢} Eager d) Early e) Each
1) a,e b, d,c 2) b,a,d,c,e

3} b,c,ed,a 4) e,c,a,db

fagdw (s 07-08) I5F f&'3 »ive fo'a fanfaa gu dywr
»aHa TS I fergu U § yIr a9a s gUT H YT UITEI |

7.

ba cb b bab__

1) <cabb 2) achb
3) bcaa 4) bacc
ab _baa____ab_

1) baabb 2) aabab
3) aaaaa 4) aabaa
Wt gt wifAar AyT T fAd vigAe | et & FadE
fofi e I Agug FET 9 |

D 1 F E R N

1 23 4 5 6

1) 1,4,3,6,2,5 2) 6,4,3,5,2,1
3y 3,5,2,4,6,1 4y 5,4,3,2,6,1



Direction : In the questions (10-11) :

some symbols

have been given different meanings Read them
Properly and answer the questions with accurate
eptions.

10.

11.

12.

13.

14.

15.

Directions (Q :

+  means >
- means =
=  means <

A means +

< means x

> means —

+  means +

1) 6A3<5+4<2A6 2)
3y B8+4>5+44+2A6 4)
1) 2<4<5-6+3<2 2) 2A4<5+6<3<2
3) 2=4>5=6+2<2 4) 2<4A5=6A3>2
Some students are sitting in row. B is sitting on the
extreme left of the row, K is sitting between Vand R,
V is sitting next to M, M is sitting next to B and Q is
sitting next to R, who are sitting adjacentto V'?

1y QandK 2) RandQ
3 MandK 4y KandR
Which figure represents sparrows, Birds and Mice ?

OO@D@

3) (4)

Find the urban, corript empleyee in the following
diagram:

Rural People

—

6<3A5=4A2<6
6+3>5+-4+2A6

2

am 5| |Urban People

p\7[8 11
Employee
12 [
Corrupt People

M 1 @) 9 3) 7 @ 12

A is taller than B but shorter than C, D is taller than A
but shorter than C, E is taller than B but shorter than
A.Who is the tallestamong them ?

) D 2y C HB 4) A
16-19) What will come in place of

question mark (7)

16.

44 64 | 100

34 4% | 169

54 81 ?

1) 81 2) 144
3) 225 4) 64

fegdw - yws (10-1) g g s fed e Ta w2 =t
€ Arone fadgr @ Wase fe'd o ox 1 @t S dantr 3ot um
&mﬁhamrdtéza%l

11.

12.

13.

14.

15.

1) 6A3<5+4<2A6 2)

TTHIBH
- ©H38Y
= TH3BH
A TH3BHE
< T€'H3BY
> @'H3BY
+ €TH3BH +

I+ AV

6<3A5=4A2<6
3) 8+4>5+4+2A6  4) 6+3>5+4+2A6
1) 2<4<5-6+3<2 2) 2A4<5+6 <3<2
3) 2>4>5=6+2<2 4) 2<4A5=6A3>2
&y fefowgdt fe'a swts €9 83 051 B o915 @ fasgs
H¥ R 857 &1 K fefonrggt v w2 R € fegas a7 31
feforraet VM T nigi8 R 8573 |, M, B 3 »iard Ui 857
93 Q, R T »Ed UW 837 I, V & mwE-owd fags
fefonragt 85 a5 |

1) QmzK 2) RM3Q

3) Mn»n3K 4y K»3R

35 fafent f&F faoar fo'se fodt, (&t w3 oo feg
g ean@erd?

OO@@

(1) ) (3) (4)
g 8w S d
:@?/}6 “mﬁ?
12 ‘ﬁtﬂTﬂ?
(D)_11 é (3) 7 (4) 12
A BIFBTIwWCITeTdDAIdTTwWC I Eerdi

E, B;rz%sr?ruaAzrazTﬁ Aot I S fowadt
faa.‘-nfn

1) D 2C 3B 4) A
fszew (yum 16-19) fo'd o ypst few yms g (1 @
ras fegdtnrdar?

16.
44 64 100
34 49 169

54 81! ?

1) 8l 2)
3) 225 4)

144



20.

) 6611 2) 207
3) 193 4) 607

Which of the following words cannot be made from
the letters given in question ?

DETERMINATION
1) MINT 2) TEAM
3) TAMED 4) NORTH

Directions (Q 21-23) There are five persons P, O, R, S
and T. One is football player, One is chess player and
oneis hockey player. Pand S are unmarried ladies and
do not Participate in any game. None of the ladies
plays chess or football. There is a married couple in
which T is the husband. Q is the brother of R and is
neither a chess player nor a hockey player

21. Who s the Football player ?

22,

23.

24.

25.

nH P 2) Q
3) R 4 S
Whoisthewifeof T?

) P 2) Q
) R 4) S
Who is the hockey Player?

1) P 2) Q
3) R 4) S

Sunny Walked 6 metres facing towards East, then
took a right turn and walked a distance of 9 metres.
He then took a left turn and walked a distance of 6
metres. How faris he from the starting point ?

1) 15metres 2) 21 metres

3) 18 metres 4) 14 metres

A walks 5 metres towards east. then tums south and

1) 30 2) 22
3y 42 4y 32
1) 32 2) 44
3} 61 4) 53
19. g |7 8
424
4 L 4 9
1) 6611 2) 207
3) 193 4) 607

20. Y ard muet & nivar F I ffanr feF fauar nee odf
gsEfedT ATRaeT 7

DETERMINATION
1) MINT 2) TEAM
3) TAMED 4) NORTH

fxaew (yEs 21-23) PQ.R S w3 T & & O+ femadt o5
fe'x gous fugat 3, f'q B39w fugrat w3 fea arat er
fugrdt 3 | P S guirdit wiagt 9 w3 fan srag fe
grar st St 9 S leg BIEW At geTs st Ese
fex fonrgaras 3 i feeg Tyt 8, Q Rergard w3
wmm@mﬁ%ma%wmwau

21. gews e fugrdt fagsr 37

1) P 2) Q

3) R 4) S
22. TAAUIatTEI?

1 P 2) Q

3) R 4) S
23, gt fumrt = &7

1) P 2) Q

3) R 4y S

24. iat 6 vited ugw <& famr, feg A dianm »id 9 ¥ied
gfanrli‘aaatrﬁyfawﬁs»ﬂagﬁwu@am@

wrafss fag Ffast gt 3 37
1) 15w 2) 21T
3) 184w 4y 14w

25.A,5rﬂzayaae‘saiw€rm§e‘ua€aya€rﬁ'w§w



26.

27.

28.

29.

30.

31

walks 10 metres, then turns back and walks 20
metres, now he turns left and walks 5 metres. where is
he from the starting point and in which direction ?

1) 20 metres due north
2)  10metres due north
3} 10metres due South
4) 15 metres due north East

Pointing to a man in the photograph, a women says,
“He is the son of my sister's mother's husband.” How
is the man related to the woman ?

I) Father 2) Grand Father
3) Uncle 4) Brother
Which colour will come at the opposite of red colour?

1) Blue 2) Black
3)  White 4) Yellow
Which number will come at the bottom of last cube ?

1) 3 2) 4

3) 6 4) 1

Which of the Following will come in place of the
question mark (?) in the following sequence ?

6C7,8F¥10,11J14,15019, ?

1) 25U20 2) 20025
3) 20U24 4) 19U25
ADG, GIM, MPS, ?

) SVW 2) SVY

3) SUW 4) SWY

A person is to climb up a tree 60 feet high, In every
second, he climbs 5 feet, but slips 4 feet, After how
many seconds, he will be able to touch the top of the
tree.

1) 60
3) 58

2) 59
4) 56

Direction (Q. 32-34 ) questions are based on the sum of
multiplication. Solve it and answer the serial number

for correct option.
A B C D E
X 4
E D C B A
32.Value of Ais?
1y 7 2y 2
3 8 4) 4
33. ValueofBis?
1y ¢ 2) 8

3) 1 4) 6

26.

27

28.

29,

30.

31.

Hiea Yae €5 yaer T uid 10 Hiea SBe T feg fue ne
a 20Hizg g5er T, feg v wiy=er I wiT S Wieg gar
31 8T mruE wirifaa firg F famt gt 3 3 v faw fomr
fegar _

1) 20vicgT s 2} 10Miea@3as®

3) 10vicaeyeTw 4) 15Wicayaees

ﬁ%mﬁﬁéﬁﬁw@%&éﬁfemﬂ%hwﬁ@a
HTEH! T e S ST & Ut e e T 18 et e B
fergdt s &t famar e

1y fugr 2)

3) wam

e
4) 99

. 7% I AroHE 8 A3fa 3 fau=T Sarmraam?

1) 3= 2) B

3) faer 4) utmr
"I9S WE T IS8T ASfT I faosvim wrdar
%
DG
1} 3 2) 4

3) 6 4) 1

I et sat feoyms fog (1) & mevs et mrdar?
6C7,8F10,11J14,15019, ?

1) 25U20 2) 20025

3) 20U24 4) 19U25

ADG, GIM, MPS, ?

i) SVW 2) SVY

3y SUwW 4) SWY

feq fonast 3 60 €2 €9 Towz T uge 31 93w feéw

Maz fegfonast 5293w 3, (g 452 dot Aga wier
) & Afds amie €0 fenerdt wowe @ e § =
BEar?

1) 60 2) 59

3) 58 4) 56

fem@m (ygw 32-34) fS'9 o3 gz 3 wofag
oS fEa et @ »i'ye &t At ahig st feamy St 9=

w9

32.

33.

A B C D E
X 4
E D C B A
Adtdzata?
1y 7 2) 2
3) 8 1) 4
B&tagata?
1 9 2)
3) 1 4)



34 ValueofDis
1} 3 2) 4
3) 5 4 7
Direction (Q. 35-37) Some equal cubes are arranged in
the form of a block as shown in figure. All the visible
surfaces of the block except the bottom are Painted.
' .
| ]2

il

11

%
A
1

t L

AN

35. How many
Cubes have no face Painted ?

N 27 2y 32
3) 36 4) 40
36. How many cubes have only one face Painted ?
1) 9 2) 45
- 3) 57 4) 62
-37. How many cubes have only two faces Painted ?
1y o0 2) 16
3 20 4) 24

38. Ramesh and Santosh are ranked Eighth and Twelfth
respectively from the top in a class of 42 students.
What will be their respective ranks from the bottom
inthe class ?

1) 34"and30" 2) 31*and35"
3¢ 36"and 32" 4) 35"and31"

39. How many such 5°s are there in the following number
sequence each of which is immediately preceded by 3
or4 but not immediately followed by 8or9?
359545535845673.
57554523510
1) Two 2} Three
3) Four 4) Five

40. Arrange the following properly and choose the proper
combination of sequence from given 4 options.

a.  Diwali b. Independenceday
c. Christmus d. Republicday

e. Holi

1) 1,3,5,2,4 2) 4,5,2,1,3

3 2,41,53 4) 4,5,1,2,3

41. Which figure can be fitted to figure 'x’ so that it may
become a complete square ?

- [ENED

—
X (1) 2) (3) 4
42. Figure'x'is hidden in which of the given four figures ?
Al Ps —H
| N 1

X (1) ) (3) @)

34, DS EHI A I?
1y 3 2y 4
3) 5 4) 7

faadm: (yas 3537 gv fed fAd we feadmzad e gy
fo'g i3 ot g+ fad fo'ge fae fewfenr famr 31358
faud § 25 @ Swzad @ A3 foyret @ 93 faafent 3 dar
dtgrfamii

35 fad we T fagteraet A foue Saradt digr afem?

1) 27 2) 32
3) 36 4) 40
36. faa we 95 fag e fvae fe'a fogar dt daraitar famm 37
1 9 2) 45
3) 57 4) 62
37. &% we 75 fagt € frge € feud Jar I3 IR 957
1 0 2) 16
3) 20 4) 24

38, QI A3EE 42 fefenrast S a3 (9 Guad uR

F yeg 8T T 12 RETS TS 19T 91368 UH

oat er QeI AETS fauaT d=art?
1) 34=tm3a 30 2) 3ietmI 35=t
3) 36=twg 32& 4) 35ermF 3T

39 fans ot fegna 5 fad ger ‘grfagd famfeea s
F ufgst e 3 At 4@ = (F s fSewa 8 AT 9
STQeraTi

359545535845673
57554523510
1) & 2) fas

. 3 99 . 4) WH

40. I fafout T 17 I fe€ »3 €3 a® g% Ae<t
§ge feS sla IoTaT BT AT IS |
a. des b, wrETel fen
c. foamiwA d dedIefe=n
e. IB
1 1,3,5,2,4 2y 4,5,2,1,3
3y 2,4,1,5,3 4) 4,51,2,3

41. 3 59 fo'ge x> &% 99 faget f&F fave g
s fenr e fa fos9 ‘x’ T =garade 27!

£ [N

X n @ @
42. fg39 % foT T o faget f g faw fea gfunr 3fewr 37
X n (2) (3) 4



43. Which figure among 1, 2, 3, 4 will replace the
question mark according to series
QUESTION FIGURE ANSWER FIGURE

ACOOAODACIOOA

oall ADO‘DOA ?

_ O @ ® @
44. Find the two figures in the following which are out of
Position and require inter changing of position to put

the entire serial in order.

n (2) 3} (4) (5)
1) 2and3 2) 2and4
3) land5 4) 4and5

45. In Problem figure two dots are placed. This figure is
followed by four answer fig., only one figure among
them fulfilling the same conditions as in problem fig.
PROBLEM FIGURE

ANSWER FIGURE

aqjoze

(1} &) 3) 4
Directions (Q. 46 and 47) In each of the following
questions there is a relationship between two figures
on the left side of the sign ::, The same relations ship
exists between the two, to the right side of sign ::, find
the correct alternative.

43. fea B3t vigAg feasy 1, 2, 3 W2 4 fF fager fo'gg

YRS e S AT 3 Mrar |
A0 OADEAO o/ mYN

yaw foas
OADADO}EIOA 2
n @ & @
44, ﬁﬁh@wﬁmméhﬁwéwéw
e aefer me fams fesefeanma st fegmrae

EEENN

(0 @ (3) ) )
1) 2m33 2)  2w34
3) 1m35 4) 4mI5
45. I¥3 38 yra f9'ga fa & firg sord o os 1 mons foy
gt & AErat nigATg Ho St ydhH e 3R

O D0-ap

m @ @) “)

faaem: (yas 46 W2 47) 35 foit yuat feg fomrs : : @ 4R

UR'? fo'get fTo i rafys 3, Ay @ ot fee ¥t

et i merfuz e 32, fo°3 a? feasy f3°9° At
feagudt§=aq)

46. QUESTION FIGURES: ANSWER FIGURES: - yrs fage CECACE:]
Kras k210004 KIA K2 ol

47. QUESTION FIGURES: ANSWER FIGURES: 47. yww fofag v fegw
sz SRR sz I EIRIRLEBIEIR

48. Find the mirror image of figure 'x'
4
¢ b' 2 &5
(x} (1) (2)
49. Find the water Image of figure 'x'

@) (@ (@ (@) (@

(x) ) (2) 3 )

il

50. A square transparent paper with a pattern is given.
Find out from amongst the four alternative figures
which would belike the one when the paper is folded
at dotted line,

Ol s o 1l ol
5218 |§= &8l ]

(x) (1 2) 3 )

48. fo'g9 ‘X’ TTERUE YT B

A K [

x) )

49. fa'ge x’ Tyt feuydifie s

()| (B (CE) (D) |52

(x) () (2 ) 4

50. fe'y Fgarard urgeawt arare Ity feg s fapyT 37
J& fEd 99 <t @39 {9, aom fig 3y I i e

o

@

T o, fagsr @ Fa nrdar?

Cli e % . [o] (]
+ 1O . O] Q
Gfs 18- & 1|3

(x) n @) £) @



51.

52.

53.

54.

55.

56.

- 3) 1600 . 4)

PHYSICS

A satellite having circular orbit ubout the earth has a
kinetic energy Ex. What is the minimum amount of
energy to be added so that it escapes from the earth.

Ex Ex
D Sy
3) Ex 4) 2Ex

If power dissipated in the 9€2 resistor in the circuit is
36 watt. The potential difference across the 20

resistoris - 9Q
_AAA
6Q2
|t AN
v 2Q
1) 4volt 2) 8volt
3) 10volt 4) 2volt

A ball is released from the top of tower of height h
meter. It takes T seconds to reach the ground. What
is the position of the ball at T/3 second?

1) —3—m from ground 2) -—“glm from the ground .

3) %m from ground 4) 1;—-—h m from the ground

A particle undergo uniform circular motion. About
which point on the plane of the circle will the
angular momentum of the particle remains
conserved.

1) Centre ofthe circle

2) Onthe circumstance of circle
3) Insidethecircle

4) OQutside thecircle

A body has mass 100 kg, what work has to done to
increase its velocity from 2m/s to 6m/s.

1y 106) 2) 200]
6001]

1 dioptre is the power of a lens whose focal length is
1) 2m 2) Im
3) 3m 4) 1.5m

51.

52.

53.

54.

55.

dfaa fefarrs
wgd! 3 fisaad fF T gag Bar o Quaria <t o Qe
ExweFwe e sl Gemasfeguadie goa s
g AR

Ex Ex
1) =& L&
) 2) >
3) Ex . 4) 2EX

fia3 fawst Fade &9 90 dua 3 36 watt famst Fast
FHe JEt T 3t 2Q Fua € fafew F yeHE waT fdaT ger

J7 9Q
VW]
FAVAYAN
1+19)
Ll 2Q
1) 438¢ 2) 8<We
3) 1082 4y 28B2

h Hieg §t gaw (Tower) F fea d'e §'et o, fend
wadt 3 yiue et T ffas e it garfewr 31 T/3

ffdge fegdie @R I fan Guet I A7

1) D dew 2) I g
9 9

3) —?)ﬂza a) % Hiea

feer 5= VTS g9t I fEE T ISag St Rz S fan fag

& g et dST AR F oftpiE adait?
1) gagoded 2) WAITWS
3) dageed 4) TAITHET

fair g = 4w 100 kg T, §F € a1 § 2m/s I 6m/s

Fa oz gt fast aon agsT u=arm?
1) 1006J] 2y 2001
3) 16001] 4y 600]

fx Fremnues §n B&a & Aadt § fAnet SaR gdt d:-
1) 2H=d 2) 1Mted
3) 3Hled 4y 15Hed



57.

58.

59.

60.

61.

62.

63.

The essential difference between AC generator and
DC generator is -

1) DC generator will generate a higher voltage ‘
2) AC generator will generate a higher voltage

3) AC generator has slip rings while DC generator
has a commutator.

4) AC generator has ¢lectric magnet where as DC
generator has permanent magnet,

A bullet of mass 60 gm moving with the velocity of
500 m/s is brought to rest in 0.01 sec. Its impulse
will be-

1) 40NS 1)
3) -20NS 4)

-30NS
+30NS

The radioactive decay of Uranium into Thorium is
represented by equation.
18 234

U-> Th+x
92 90
What willbe x
1} electron 2) proton
3) alphaparticle 4) neutron

Two bobs of masses 1 kg and 2 kg are suspended
from a rigid support by threads of length 4 m and 1
mrespectively. Find the ratio of their time period.

1) 4 2) 8
3) 2 4 12

An electron and proton enter a magnetic field with
equal velocitics. Which one of them experiences
more force.

1) electron

2) proton

3) Itcannotbe predicted

4) Bothexperiences same force

Where should an object be placed in front of convex
lens to getareal image of the same size of the object

1) Atthe principal focus of the lens
2) Attwice the focal length
3) Atinfinity

4) Between optical centre of the lens and its
principal focus

The value of 45°c temperature in Fahrenheit will be
1) 118°F 2) 113°F
3) 120°F 4) 115°F

57,

58.

59.

60.

61.

62.

fair AC wxdea w3 DC Aedea e e g i fa -

1) DCaxsdeg et Smesrieraaer I

2) ACAZdeT gt Emezriuragerd)

3) AC R&deq @9 festag fiar 39 o= v fa DC
Wisded (Rgferrugeaga dor i

4) AC 7539 f&'y favs gaa dor &, wa DC 7ades
ffomaet geaderd

fear 60 A St 500 m/s <91 575 SBeh dga A aEt §
0.015 Afas fe'g fean mienar &9 femrer fapur 3,
@rerar2ar [ (Impulse) fiar J2am?

1) 40NS 2) -30NS

3) 20NS 4) +30NS

dAeRafew gafenn (U) e &fewr (Th) fe'a 3516
wafez sfaat & (decay) 35 fstr mitage niswa
IArfen e 3 iAvtaee fEe x dt e

238 34

U-> Th+x

92 o0

1) fedaes 2) s
3) m@eTaE 4) fs@ew

=7

elgewrairoster v | kg3 2kgN1Qast§4m
WMT Im & F9e oF ufa® &% foq 37 29 I
Bearen ifen 3180t Smeag avs St g UrI oR?
1 4 2y 8

3) 2 4) 12

B HEd T30 U6 150aT fET faaz e gB migae
Fdar|

1) fedgzs

2) s

3} gyfagrsdtArRaer

4) €& HITHd B MBI IIE US|

fan ang & €35 359 @ Frod ruE T @
TRIfea yf3ftg YUz 9% oot (a3 gur udam?

1) BFATHYETAS

2) SaetEangdt3

3) WAIF

4) EHATITMIHY TS [Fgaadus )

45°c IS T dadtz st f@g at s J8ar?
1)} 118°F 2) 113°F
3) 120°F 4) 115°F



64.

65.
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67.

68.

69.

CHEMISTRY

You are given a solution of AgNO, which of the
following do you think cannot displace, Ag from
AgNO, solution.

1) Magnesium 2)
3} Gold 4)

Zinc
Copper

The atomic number of four elements A, B, C, D are 6,
8, 10, 12 respectively. The two elements which can
react to form an ionic bond are -

1) AandD 2)
3) AandC 4)

BandC
BandD

Out of the following pair of compounds the
unsaturated compounds are-

1) C,H;andCH, 2y CH,andCH,
3) CH,andCH, 4) CH,andCH,

Which of following set of elements is written in order
of their increasing metallic character-

1) Mg,ALSi 2) C,0,N
3) NaLipK 4) Be,Mg,Ca

Which of the following statements are correct about
properties of colloids -

a)  Acolloid is a Homogenous mixture

b) Thesize of particles of a colloid is too small to be
individually seen by naked eye.

¢) Colloids are big enough to scatter a beam of
light passing through it & make its path visible-

1) a,b,carecorrect 2) bandcarecorrect
3) aandbarecorrect 4) aandcarecorrect
Assertion (A)

When we dip Iron nail into CuSQ, Solution the colour
of solutions changes.

Reason (R) : Copper is less reactive than iron.

1) Both A and R are correct but R is not correct
reason for A

2) BothAand R are correct, R is correct reason for
A,

3) Aiscorrectand R isincorrect.

4) Aisincorrectand R is correct.
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Jnfes fefaprs

g fama amEtde (AgNO,) T uiw fgr fapwr §1 3
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3) Far 4y U
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1) Am3D 2)
3) AmM3C 4)

Bm3C
BwID

I fed Gifarar @ v &9 fagar s whfaus dfaat e
of

1) CH,»J CH, 2)
3) CHmW3CH, 4)

C6H12 ,Hé CSHIZ
CH»3CH,

IHMFAT IS
1) MgALSi 2) C,0O,N
3) NaLi,K 4) Be,Mg,Ca

i fafpnt f&ET fauar gas SeTes T aet SE 3T I |

a) feofeampmaitusd

p) amwEF ¢ FTier maw it e for I fa feost
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Arrange the Li, Be, B, C, N elements according to
increasing order of atomic radii.

1) N<C<B<Be<Li
2) C<Li<N<Be<B
3) Li<Be<B<Cx<N
4) B<Be<Li<C<N

Elements A, B, C having positions in periodic
table-

Group 16 Group 17

----- A

B C

a) Aisametal

b)  Cissmaller insize as comparedto B

¢}  Element A gives negativity charged ion

1) a,bandcarecorrect

2) onlybandcare correct

3) onlybiscorrect

4) aandcarecorrect

Which of the following is having maximum double
bonds-

1) Propanone 2) Benzene

3) Propene 4)  Propanol

Carbon atom in graphite is combined with how many
other carbon atoms-

o1 2) 2

3) 3 4) 4

A solution contains 58.5 gm of common salt in 360

gm of water calculate the total number of protons in
solution.

1) 21x6.023x10%
3) 200x6.023x10°

22.8x6.023x10%
228x6.023x 10”

2)
4

A solution of calcium hydroxide is used for white
washing walls. After two to three days of white
washing, walls start shining due to formation of
compound,
1) CaO

3) CaSo,

2)
4)

CaCo,
Ca(HCO,),

Which mass of O, (Oxygen molecule) will contain
the same number of molecules as 2.5 moles of Cl,.

1) 180gm 2) 100gm
3) Tgm 4) 80mg

70. Li, Be, B, C, N 33 & wiaq fenm € U2 q mgHs
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1) 21x6.023x10%

75.

76.

i IgFtg at a=ai?

1) N<C<B<Be<Li
2} C<Li<N<Be<B
3) Li<Be<B<C<N
4) B<Be<Li<C<N

ISt Aaet f€9 f3a 337 A, B w3 C &t mfast i

fegnigaa i

ATVU16 ITU17

— A

B Cw

ay AfFggady

b Ba® CerAdy(negfenmmaedi

¢) FIFAfazgafaanrfesfdardi

1) a,bwIcslaITIFI

2) FWBbOMIcEITIBI

3) ae®bIIT

4) amIcalTTSI

3% fefent f& fam Gfoa feT R T o ooT fus I
T=I

1) UEs 2) @=ds

3) udds 4) UYIUE®
Feete f[Ea feq amous et a3 Jo aaes yargmt
s afar Jer )

1) | 2) 2

3 3 4) 4

fe'q ws f&9 58.5 apW AUdE ava 360 apH uat feg

ufenr Ifewr 31 fem us 99 Qevat & 375 Afunr 451
J<ai? . i
2) 22.8x6.023x10”
3) 200x6.023x 107 4) 228x6.023x10”
ABEPHH TEFIEATEF T W 7% e 3
&3t At &1 € 7 {3 fest omre rewt atat oet darer
Fana et Ifeg far Gloa @ ves aras fer it

1) Ca0 2) CaCQ,

3) CaSO, 4)  Ca(HCO,),

O, CHarHte wig) & i Ov e 2.5 s wdidftes (CL) &
HEINE UE WE TS?

1) 180am 2) 1008

3) 7law 4) 803w
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82.

BIOLOGY

Which one of the following statement is true -

1) In humans there are two pairs of sex
chromosome.

2) A child who inherits an x chromosome from
father will be a boy.

3) A child who inherits an y chromosome from
father willbe a girl.

4) A child who inherits an x chromosome from
father willbe a girl.

The Pancreas secretes Pancreatic Juice which

contains enzyme for digesting proteins.
1) Lipase 2) Amylase
3) Zymase 4) Trypsin

Involuntary actions including blood pressure,
salivation and vomiting are controlled by-

1) Cerebellum 2)
3) Cerebrum 4)

Pons
Medulla

The correct pathway of blood in circulatory system
is-

1) Auricles — ventricles — Arteries — Veins
2) Ventricles —» Auricles — Veins - Arteries
3) Ventricles — Veins — Arteries — Auricles

4) Veins — Ventricles -3 Arteries — Auricles

Heart muscle cells are -

1) Round,unbranched, uninucleate

2) Noncylinderical, branched and uninucleate
3) Cylindrical, unbranched and multi nucleate
4) Cylindrical, branched and uninucleate

Which of the following is the correct features of

(Lymph1

1. Tt is similar to the plasma of blood, colourless
and contains less protein.

2 Similar to the WBC of blood, colourless and
contain more protein.

3. Similar to the RBC of blood and red in colour.

4. It contains more fat.
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90.

Match the item in column-I with those in column-1I g3

and select the correct choice.

Column-I Column-11
Food Chain
Food Web
Herbivore

Elephant
Jackal

Scrics of otgamsm
feeding on one another

g|ajw|>»

iwto|—

Carnivore Inter linked food chain

[) A-3 B-4 C-1 D-2
2) A-2 B-1 C-3 D-4
3) A-1 B-2 C-3 D-4
4) A-4 B-3 C-2 D-1

Which of the following is not a part of the female
reproductive system in human beings.

1} Ovary 2)  Uterus
3) Vasdeferens 4)  Fallopiantube

smoothens bone surface at joints and is
also present in the nose, ear, trachea & larynx.

1) Tendons 2) Ligament
3) Areolartissues 4) Cartilage

Which of the following plant group bear naked
seeds and usually perennial, evergreen and woody
are_

1) Pteridophyta 2)  Gymnosperms

3) Bryophyte 4)  Angiosperms

The site for complete digestion of carbohydrates,
proteins and fats is-

1) Large intestine 2) Stomach
3) SmallIntestine 4) Mouth

Which of the following are characteristic features of

cells of Meristematic tissues -

1) Actively dividing cells with dense cytoplasm,
thick cell wall and prominent nuclei.

2) Actively dividing cells with dense cytoplasm,
thin cell wall and no vacuoles.

3) Actively dividing cells with little cytoplasm,
thin cell wall and prominent nuclei.

4) Actively dividing cells with thin cytoplasm, thin
cell wall and no vacnoles

Potato and runners of grass is an example of - 89.

1) Homologousorgans 2)  Analogous organs
3) Vestigial organs 4)  Atavism

Which of the fbliowing are sensitive to sulphur  00.

dioxide
1) Algae 2) Lichens
3) Mosses 4) Ferns
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FEBH-1 T s FToH-11 &8 a7 T At fesgsy
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dAT8BH-1 arav-II
A | 995 5= 1 |t
B{sAasas |2 [He=
C | maraat 3 | e o
D | vmgrat 4 [T
1) A-3 B-4 C-1 D-2
2) A-2 B-1 C-3 D-4
3) A-1 B-2 C-3 D-4
4) A-4 B-3 C-2 D-1
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1) AFEw 2) Hooat
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99.

MATHEMATICS
o A B
1> X+ y1+L

thrc X, V, Z are intc%gers, then the value of x+y+z
is

6 2) 8

3) 7 4) -2

If Sin x= Cos’ x, then the value of Cos’ x (1+Cos’ x)
wilibe

n1 2y 0

32 4 -1 .
If o and B are roots of a(x’~1)}+2bx=0 and the
quadratic equation whose roots are 20- T and

2[3-31— is px’+qx+r=0 then p+q-tr is equal to

1) 2b 2) 6a-8b

3) 6b-8a 4 0

If' S, denotes the sum of first n terms of an A-P, then
the value of [(S,, - S,..) - (S,.- S, )] will be

1) §,-S,, 2) nd

3) 0 4) S-S,

Two dice are thrown at the same time and product of

numbers appearing on them is noted. Probability
that the product is less than 9 will be

1 4
1} 36 2)
17 2
3 36 9 5

If Arithmetic mean of numbers X,, X,, Xy, X, =X, iS X
than Arithmetic mean of numbers ax+b, ax,+b,
ax,+b, ---, ax,+b where a and b are constants, will be
) X 2) naX+nb

3) ax 4 ax+b

The average score of boys in class X in an exam is
71 and that of the girls in that class is 73. If the
average score of class X in that exam is 71.8 find the
ratio of number of boys to number of girls in that
class.

12 2y 2

3) 2:3 4) 32

The altitude of an equilateral triangle is pcm. The
area of this triangle is

1) plem’ 2) J%p’cm2
3) p om’ 4)J_§_ 2.2
\[3' ) pcm

The sum of all two digit natural numbers which are
divisible by 7 is
1} 743
3) 728

700
735

2)
4)

13
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afes

37 _,, 1

9 = =2+ —— T<,fA%
13 X+
L
x,yn@zﬁyawﬁfuwﬁax,sfﬂyﬂwr_{‘sﬁ%am
1) 6 2) 8
3) 7 4 -2 -

7939 Sin x=Cos’x 32 3* Cos’x (1+Cos’x) THE
J=ar|

n 1 2y 0

32 4 -1

& wrdt miteEs a(x"-1)+2bx=0 & e a w3 f 751
ﬁaa@n@ura}mﬁaw,mnéfmzu-%m@zg-_é_
T5, pX+qx+1=0 3 I prqtr T HE J=ar

1) 2b 2) 6a-8b

3) 6b-8a 4) 0

99 S, fait AP & ufg® x uet BT AFeE I I QR AP
w [(Ssn' S:-n-l) - (Szn - Szn.l)]?ﬁml

1) S,-8., 2) nd

30 4) §,-5,

Tyt (dice) & fea'd Bfen sier I, yrug ufgent
crarEaes sraigrAter JIfengeses € 9 Fwe e
dtflgresraaat:

1 4
b 36 2 g
0 3 05

AP X, Xy, Xyeenenens x, e aifefaa v X 31
fifiprrwt ax, b, ax,+b, ax,+b, ... ,ax +b, fA¥ am3
b RfeE va 75, @ JfeIa oW &

1) ' X 2) naX+nb

3) a¥X 4) aX+b

fair Uifiprr e =g ERT & aafont © ning Wi 71
& 3 ST T iR W 73 35 1 Rad G it feg
Ardt v & @ fefonradivt € »iRg ¥ 71.8 3 3F
3 feg saa w3 saar et Aftmr er U ugT a9
1) 1:2 2y 21

3) 2.3 4) 3:2

feq g 3gA < fugdat A daetpmi 31 GR fagw
T YIgIeS I |

1) pini 2) ‘%D’ﬁ*ﬂl

3) 2 4 2

) T i ) \]%pﬁmﬂ

Gt At & it FEM YigEa Ao, 7 fa 7
&% Yot Tort FrEPt I, T AS TR

1) 743 2) 700

3) 728 4) 1735
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107.

108.

109.

110,

The difference between two numbers is 1365. When
The larger number is divided by the smaller number,
the quotient is 6 and remainder is 15. Find the
smaller number

1) 240 2y 270

3) 295 4) 300

If 75% of a number is added to 75, then the result is
number itself. The number is

1) 50 2y 60

3) 300 4) 400
Find the product of

.3|3 ,.4|3 , 121243

1) |3 )3 3Hl23 4) 413

The sum of the ages of 5 children born at the
intervals of 3 years each is 50 years. What is the age
of youngest child ?

1) 4years 2) 8years

3) 10years 4) 12years
Which of the following trains is the fastest ?

1) 25m/sec 2} 1500 m/min
3} 90km/sec 4)  100km/sec

if y=5, then what s the value of 10y, |y"—y2 ?

1) 50 ’2 2)100 3} 200. |5 4) 500

Themeanof1’,2°, 3, 4, 5", 6", 7*, is

1) 10 2) 20

3) 30 4y 40
Simplify

3. IZ + .4]64 + 412500 4+ .6|8

DITNER Iz HJP 4)11\[4_

AD is bisector of ZA of AABC, which meets side
BCatD.IfBC=Kcm,CA=/cm,and AB=mcm,
then the length of DC (incm) is

KI5 Kfm+) Kom
D nt+l 2 ! 3) m+!

4) K(r;+l)

If area of a sector of circle bounded by an arc of
length Sz cm is equal to 20x cm’ then its radius (in
cm)is

1)12¢em  2}16cm  3)8cm 4) 10cm

In right angled triangle AABC, ZB=90°, AB= Scm,
BC=12cm, then the area of in circle of this triangle

ABC will be-
2) 2nem’

1) 4nem’ 3)13nem’ 4) 1 7nem’
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HitmT 578 g7 {89 O 37 aRes 6 W T4t 15 gaor
TIEA fftmr yarad
1) 240
3) 295

270
300

Hag fai Afun a7 75%, 75 feg afer w2 I 5T
=v @t Al iz §91 3 1afir ugr a3

1 50 2) 60

3) 300 4) 400

\3]—3-,\4‘3_, 243 T AT uIT HT|
n\jr 2) 3

3% e S i3 575 7ai 5 sfeut Tt Quater 7z 50
A8 T IAgd a2 99 St Qg at T3t 2

1) 48 2) 8A®

3} 10w 4) 12%

35 fendtort {9 faot duarst re 3 39 340t 7

1) 25viifas 2) 1500t/ fuse

3) oofat/Afds 4) 100fxrifaz

2)
4)

3)123 4) 4(3

HIIy=533" 10y, |y'-y’ ey atTEar?

1) 50. [2 2100 3) 200. |S 4) 500

1°,28, 3, 4 5%, 6°, 7 ervavrs Foar ?
1) 10 2y 20
3} 30 4) 40

LGB

3\[2_+ \4[ﬁ+ 42500 + \6[8_
bz 23T Iz @

AABCf@9AD, ZAevmggwa 3, # fagarBC ¥
fég D €3 aeer §i faw BC=K mi, CA=/ AW, 3
AB=m v §¥ 3+ DC & et (A few) F2ait

K/ K{m+l Km K{m+I
I)ETI 2) (1 ? 3) m+] 4 (m :
faf Faa et fFaguat daet sa . Y dagfeg oy
eI S ]9 T HETE I AT ot iy w dgees 20n
cm’ J2 I FFT S wiaw fenmra St durdt §3ai
D12 AMt. 2)16 Faft. 3)8 A, 4) 10 Bt
fexr mi@= fggw ABC few £B=90°, AB= 5 s, BC=
12 a3, 3t fer faew s 22 viegat a7 o ises
g=art -
D4rtY  2) 208t 3) 13 4) 1 7ol
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HISTORY

Why was the Vietnam was called the first television
war?

1) Brought home stories from soldiers

2) Ledtoincrease sale of television sets

3) Battle scenes were shown on daily news

4) Television was invented. '

Who said these lines “whether I am a Hindu, a
Mohammedan, a Parsi, a Christian or of any other
creed, ] am above all an Indian. Our country is India.
Our nationality is Indian.”

1) DadaBhaiNaoroji

2) Surenderanath Banerjee

3} Gopal Krishna Gokhale

4) Pherozeshah Mehta

Under which rules the sculpture of four lions was
built on Sarnath’s Pillar?
1) Samudragupta
3} Chandragupta

Ashoka
Harshavardhana

2)
4)

Who was the first Viceroy of India?
1) LordClive 2)  Warren Hastings
3) Lord William Bentinck 4)  Lord Canning

To whom, Guru Gobind Singh Ji had written
Zafamama?
1) Babur

3) Humayun

2)
4

During India’s freedom struggle which one of the
following led to the first ‘Al India Hartal*?

1) Protestagainst Jallianwala Bagh Massacre

2) Protestagainst Row Latt Act

3) Trial of Mahatma Gandhi

4) Arrival of Simon Commission

Aurangzeb
Jahangir

In 1878 the Vernacular Press Act was modelled on
the-

1} French PressLaws 2) British Press Laws
3) IrishPressLaws 4} Scottish Press Laws

Who was the famous Suitan of Lodhi Dymasty?
1) Sikander Lodhi 2) Ibrahim Lodhi
3) DilawarKhanLodhi 4) DaulatKhan Lodhi

When was Nazi Party founded?
1) 1917 2) 1918
3) 1920 4) 1909

Who had started Masand system?
1) GuruHarRaili 2) GuruAngadDev Ji
3) GuruNanak Dev Ji 4) GuruRamdas Ji

“Who said these words, ‘Tremble, therefore, tyrants
ofthe world™?

1) Robert Damnton 2)James Lackington
3) Louise/Sebastien Mercier4)Thomas Paine
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1) T EaHt 2) mpfiossadsed!
3) U ffEs s 4) fedwmonfaar
mreaE € A9 §F 90 Aot & ot fam € i R
HETET ITEl?

1) AHEd IS 2) WAEF

3) SIS 4) JIA<dUS

gz erufgsr Tfenafe dae At?

1) ZTOFEST 2) <& IRfeaT

3) wagfefemiiifea 4) FreFafsar

FRTE™HT ™I ¥ IF aifie i 7t & fam & fofumrm?
1) 94 2) midemy
3) foig 4) HAJTEIT

FOIIT T AIIIIHATH €I'% ‘UTIB Ao FII193TF
fa§ aiat arer?

1) Afsiegraarafanrat e fegufeda

2) d@enae<feanidal

3) WaraWrart feguargat aeeel € fequfeal

4) wrehs s wrge € feaufda

1878 ¥t €T 249 Bd YA wae faner syaTHl?
1) weinags 2) feferimags
3) wrfeen N args 4) wafer{ATSs

gt Ewer Ag I yfig sren fan § ifenr ater 3
1) fréeasdt 2) feggotddt
1) fomreay 3dt 4) ImzutEa
AT oS O AETUSTIY JE1?

1) 1917 2) 1918

3) 1920 4y 1909

wite ygT fan gg rrfoars #t & g 1st?

1) g@dfeafes 2) ggWEeeTH
3) IFEET T AN 4) FgIHEHHA

fog gue fan & a7, T f59g@ oA, g< IUF qES €
FaIwrfamrar

1) d9d¢ FdeS

2) e Efderes



122.

123.

124,

125.

126.

127.

128.

129.

3) Madhya Pradesh

GEOGRAPHY

Which among the following does not belong to the
list of leading sugarcane producing states?

1) Uttar Pradesh 2)  AndhraPradesh
4) Mabharashtra

In which Union Territory maximum area is under
forest?

1) Dadraand Nagar Haveli
2) Andamanand Nicobar Islands

3) Delhi

4) Puducherry

Which agent causes the formation of V-shaped
valley?

1) snow _ 2) wind

3) birds andmimals 4)  water

What type of soil is also known as “Tea soil’.
[) mountain soil
3) desert soil

2) marshy soil
4) saline and alkaline soil

Which of the following state has the highest density
of roads?

1) Goa 2) Jammu and Kashmir
3) Kerala 4) Haryana
What is the extent of “Tropical Heat Zone?

1) 23'%:°Northto 23%4° South
2} 23%°North to 66%.° North
3) 23%° Southto 66%4° South
4) 66%:° North to 66%4° South

For which of the following industry, ‘Dhariwal’ is
famous as an important centre/place.

1) CottonTextileIndustry 2) Woolen Industry
3) Jute industry 4)  Silk Industry

Which of the major port of India is located in
Sundarbans Delta?

1) Kandla
3} Chennai

Mumbai
Haldia -

2)
4
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126.
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129

gIs

feaat 8 faomr Wiy dier @awen ot ot gt fe'e
st arerd?

1) Fsaydn 2) whmEryew
3) Hoyew 4) awEET
farderwfrzydnfevrs F eTae=igad?

1) TEINI SITTRET
2} WEWE I fadeadiunyg

3) fast
4) ygadt
V-oourag (@-nrag) & WA e fsawre faw a9w
o Jerd?
1) w2 2) T
4) uyat

3) @I aaes

farm famn &t A & “ara A A S e irter

1) yaaAt iR 2) wEesthid

3) wgas e 4) wRAITTANSA
ﬁnmﬁah%‘haémf&é‘me?wwﬁé?
1) 3 2) WnZaedle

3) aIsT 4) gfemrar

gne iz orferae fa® FfagTad?

1) 23%°E3TT 23 T
2) 3% FITF 66 39
3) 23%° YT T 66%° Ty
4) 66%°§ITT 66U TuT

‘T’ fan Geter BH Wiseyer Aos e I I
yfWay?

1) pStauz-Gedar 2) gstausrQetar
3) yens Gettar. 4) ImiQetior

. Fegws v fegaaa oY fasdt Yy fegara It 37
1) FEsT 2) Hedt '
3) 989 4) TsE



130. Which of the following place is influenced by

131.

retreating or eastern monsoon?
1) Amritsar 2) Chemnai
3) Mumbai 4) Shimla

Which of the following states are the major
products of copper?

1) Rajasthan and Madhya Pradesh
2) Odishaand Rajasthan

3) Maharashtra and Gujarat

4) Madhya Pradesh and Gujarat

132. Hyderabad is the capital of which state?

1) Telangana 2) AndbraPradesh
3) Karmnatka 4) Tamilnadu
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130. 35 fafumt {€F faos ravs =TuR Aidt 9@ #F yast

wegs Fygfeagerd?
1) #hiEne 2) w39
3) yaet 4) finimT

131. 35 fafmit @ faod 3Ry @auea I IS?

1) TRAES IHTYER
2) @I Tvnes
3) HOW'HCI I PFTT
4) HOyEEI Jvo's

132. Jevaefaraad aRTaT a7

1) 3¥ars 2)
3) qI&H 4)

hgaT yer
Fhsarg



133.

134,

135.

136.

137.

138.

1395.

CIVICS

Who give the idea to establish the ‘Lok Adalat*?
1} Sh.P.N.Bhagwati

2) Dr.B.R.Ambedkar

3) Sh.Lal Bahadur Shastri

4) Dr.T.N. Sheshan

Which words were included in preamble of Indian
constitution by 42nd amendment in 1976 -

1) Directive Principles

2) Democratic and Republic

3) Wethe people of India

4) Socialist, secular and unity of country

Which fundamental right is considered as the ‘Pillar
of Democracy’. '

1) Righttoequality

2) Righttoreligious freedom

3) Rightto freedom

4) Rightto constitutional remedies

How many members does Punjab send for Lok
Sabha and Rajya Sabha -

1) LokSabha-13
2) LokSabha-7

3) LokSabha-117
4) Lok Sabha- 545

Rajya Sabha-7
Rajya Sabha- 13
Rajya Sabha - 245
Rajya Sabha- 12

Which rights are not given to foreigners?
1) Economic Rights 2) Social Rights
3) Political Rights 4)  CivilRights

Who is the chairman of the Rajya Sabha?
1) Speaker 2)
3) President 4)

Vice-President
Prime-Minister

Who can transfer a Governor from one state to

another?
1} Prime-Minister Parliament

3) President

2)

4)  Supreme Court
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133.

134.

135.

136.

137.

138.

136.

STIfdT AT

‘Fanersd S ruusTer fegafand fagrm?
1) At Hs. Fa=Et

2) gv.€t g wHTad

3) {1 %% gaed ISt

4) }& ms wEs

1976 &7 42t Afeusa A ot fao? mue got
ffears St yrgresr fes ag ol

1) fsoena frars

2) EgFIdrIaIEeH

3) wAtgIIT ST

4) A, o fsauy 3 aaead dt e

famifga vifoare & ‘Sadzgordw o gavr fid' g fapur
3-

1) Arsgrerwfoag

2) uafia FFIaaT eruifuarg

3) H3FezTevnfaarg

4) Afewrfsa Guarat evnfaare

vy 89 AT I o7 AIT BEt gHeT 48 HET 9T &
= a_— -

1) SIAagT-13 THARIT-T

2) BaAgF -7 FHAFT- 13
3) 8aFaT- 117 IHAIT~ 245
4} BTRI- 545 dJHAIT- 12

feent & faaa wifaarat 3* Sfaz dfumr famr 7

1) wafag wfoaret 3 2) A mfagrat 3
3) gaifzamfuaars 4) sofgamfaaa T
TAAST T IHING A Jav?

1} mitad 2) Qu-gwesush

3) gEequst 4) yOEHIE
TS S TR ed er e ds sesraerd -

me
iCCTE i e o

1) yor&yIdt
3) THIIUST

2)
4)



140.

141.

142.

Which Indian Leader gave the idea of two nations
(partition) before independence?

1} Mahatma Gandhi 2) Jawahar LalNehru
3) LiakatAli 4) Mohd. Al Jinah

How many countries are the member of U.N.O.
(United Nations) at present?

1) 193 2) 150
3) 51 4) 182
India opposes strongly -

1} United Nations

-2) World peace

3) Racialism and Apartheid policy
4) Common Wealth of Nations
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140. faRaaat 837 & nrardt 3 ufost € ent wrfega fear

At?
1) HIT3HTargt 2)ifsg Ao BB afag
3) fenmagmst 4) HaHE niEt fawrg

141. AGEI FHed AW & Haat &t T9avs Ay e farest

=1
1) 193 2) 150
3} 51 4) 182

142. I3 YES (a'e3) feaulJ -

1) AQaI THT

2) W39 THSI AST

3) FABITEI JIrge e algt
4) THSINES



143.

144.

145.

146.

147.

ECONOMICS

Which equation is true?

I) Real Wages = ﬁ%?% x 100

2) Real Wages = % x 100

3) Real Wages = Money Wagtlzsé ())( Price Index

Money Wages

4) Real Wages = Price Index

Economic activities are notrelated to:-

1) Production, consumption and work of House
wife,

2) Production, consumption and exchange.
3) Production, exchange and distribution.
4) Consumption, exchange and distribution.

Socialist Economy has features :-
A) Govt. Control

B) Collective ownership

C) Competition

D) Freedom of market forces

E) Social welfare

Which one is true -
1} A,BandC 2) A,BandD
3) A,BandE 4) B,CandD

On the basis of ownership types of Economics are :-
1} Developed, mixed & capitalistic.

2) Capitalistic, developed and socialistic.

3) Mixed, developed and under developed.

4) Socialistic, capitalistic and mixed.

In India which one is not indicator of level of

economic development :-
1) Percapitaincome 2)

4)

Expectation of life

3) Population Literacy rate
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Mdg HTH3d

143. faostmitaes sta J7

144.

145.

146.

147.

NI ged W
- S p— x 100
Hefow vaedt

U=

dHI Faa W

1) »HE Hergdl=

2) MHT Hagdt- x 100

Hefaa wagdt x dHg Foa W
100

Hefaa Hagdt
a3 Bed W

3) »HE Hagal-
4) B Haget-

faraa mio wrafae ardtfedtnt s Adfog &dt Y -
1) @3uew, yuSHF ugE MeT eT AW

2) G3ues, ywIwa Tetear

3) Gaues, TermarnIdy

4) YUz, TeieTT I e

RHTAETE! ooy feerar St fairarei ox -
A) raadt fsusas

B) wtHEEtUHIZ

C) »rurY yarasT

D) HEtwt St I AITE Y G
E) A g5 et

fegst fe g faggriGarsta .-
1) A,BandC 2)
3} A,BandE 4)

A,BandD
B,CandD

WSS & urg 3 g feemar dtit famit 7% .-
1) feafmz, fipfagwa fmtee

2) gvtee, feafrgma e

3) fimfes, feafre w3 feammits

4) e, Urtere ws fwafag nig feermar

93 e faogr wafax feaw & Ung o gea st 32
1) yFtfewadtnmies  2) dAl=sieesT
3) AEAf 4) RWHIITET



143.

149.

150.

How many banks were nationalised by Govt. of
India in 1980?

1) 12
3) 7

) 14
4 8

Which of the following organisations looks after the
credit needs of Agriculture and Rural Development
in India?

1) FCI
3) NABARD

2)
4)

IDBI
ICAR

When there is investment made in the form of
education, training and medical care the population
becomes :-

1) working capital
3) fixedcapital

2)
4)

human capital
capital growth
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148.

149.

150.

F'I3 A" T 1980 29 fad &t o oredtass
stz fam? :

1) 12
3) 7

2) 14

4) 8
g-feam wet aafm o feerar aaet & -
1) FCI 2) IDBI
3) NABARD 4) ICAR

we fitfumr, frusTet v frog Aot @ gy fee fadw

dgraerd, Ftamhfienr T U TS
FIBE T

1) aIaHs UHt 2)  HaWtUsY

3) Afggd=t 4y (Fr=mr



ENGLISH

Q. (151-154) Read the comprehension passage
carefully and answer the following questions -

There are over a quarter of a million plant species. Only
600 or so are carnivorous who call, attract and eat bugs.
They live in bogs and places where the soil lacks
nutrients. Pitcher plants trick their prey into landing on
them. Sundew plants sparkle in the Sun but they are more
treacherous. They create mucilage to attract bugs. As they
fly in to eat, bugs become trapped in the object of their
desire as their tentacles respond to the prey by curling
around them. Bugs die in about 15 minutes and are then
dissolved by these plants in their enzymes. Corkscrew
plants have inviting stems. Curved hairs, line the inside of
the stems that allow insects to go up the stems, but not
back. Bugs who wander into the corkscrew plant find that
they are unable to escape. Bladderworts are plants that
live in water. Their traps are like small bladders hidden
beneath the water that sucks up the prey and the water
surrounding it.

Carnivorous plants have a hard time adapting to other
environments that shows that they thrive in delicate
environment which makes them not so hardy after all.

151. Which statement does the author most likely agree
with?
1) There are too many species of camivorous
plants.
2) There are a few plant species in the world.
3) Only a small number of plants are carnivorous.
4) Amajority of plants are carnivorous.

152. Which plants traps bugs in its stem and forces them
to walk forward? :
1) Corkscrew plants 2) Sundews
3) Bladderworts 4) Pitcherplants

153. Which event happens last when Sundews eats a

meal?

1) The Sundews create mucilage.

2) The Sundew’s tentacles curl in response to the

prey

3) The bug is attracted to the mucilage.

4) The Sundew releases enzymes.
154, Whichbest defines the word treacherous?
1) Something that provides nutrients.
2) Something that is very bright.
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3) Something that tastes delicious.
4) Something that has a hidden danger.

Q. (155-158) Read the comprehension passage
carefully and answer the following questions :-

In 1848, gold was found in California. Thousands of
people rushed there to get some. Many people liked living
there and decided to stay. At that time there was no train
line. In 1860 and 1861, the Pony Express was the fastest
way to get.news to and from the West. It could make the
trip in just ten days. The Pony Express had 184 stations
along the trail. The stations were around ten miles apart.
This is about how far a horse could run at a gallop before
tiring. The rider would switch to a new horse at each
station and before resting he would give his mail pouch to
a new rider. The mail never stopped moving, even while
the horses and riders rested. Each rider had to weigh less
than 125 pounds. Speed was the key. Most of the riders
were teenage boys who rode at a fast pace for upto 100
miles a day. If there was an emergency one might have to
ride 200 miles in a day. In its time running, the Pony
Express only lost one mail pouch. The Pony Express
played an important role for a time but it did not last.

155. Which best explains why Pony riders had to weigh
less than 125 pounds? '
1} Heavier men were more expensive.
2) Horses were scared of heavier men.
3) Heavier men scared customers.
4) Horses could make quicker with lighter men.

156. How fast could the Pdny Express take a letter from
California to Massoorie?
1) 24 hours 2) Tendays
3) Twenty days 4} Onemonth
157. About how far did Pony Express riders travel on a
usual day?
1) 10 miles 2} 200 miles
3) 100 miles 4) 2000 miles
158. How many pouches did the Pony Express lose?
1) Never lostapouch
2) One
3) Two

4} Too many tokeep track



Q. (159-162) Read the following passage and answer
the questions based on it.

Nehru was a many sided personality. He enjoyed reading
and writing books as much as he enjoyed fighting political
and social evils or residing tyranny. In him, the scientist
and the humanist were held in perfect balance. While he
kept looking at special problems from a scientific stand
point, he never forgot that we should nourish the totai
man. As a scientist, he refused to believe in benevolent
power interested in men’s affairs. But, as a self
proclaimed non-believer, he loved affirming his faith in
life and the beauty of nature. Children he adored. Unlike
Wordsworth, he did not see him trailing clouds of glory
from the recent sojourn in heaven. He saw them as a
blossoms of promise and renewal, they only hope for
mankind.

159. Nehruthought that children-
1) were trailing clouds of glory
2) held promise for a better future
3) were like flowers to be loved and admired
4) held no hope for mankind.

160. Nehruenjoyed-
1) reading and writing books
2) fighting political and social evils
3) resisting tyranny
4) doing all the above and much more

161. Which of the statements reflects Nehru’s point of
view?

1) Humanism is more important than science.

2) Science is supreme and humanism is
subordinate to it.

3) Science and Humanism are equally important.

4) There is no ground between science and
humanism.

162. A many sided personality means -
1} acomplex personality
2) asecretive person
3) aperson having varied interests
4) acapable person

Q. (163-166) Read the comprehension passage
carefully and answer the following questions.

Tigers are the largest and most powerful of all the cat
species. Despite all of the tiger’s strength, the future of the
species is uncertain. It is estfmated that at the start of the
20th century, there were over 1,00, 000 tigers living in the

wild whose number has dwindled to just over 3,000.
Serious threats that tigers face come from Homo-sapiens
better known as humans. Tigers are hunted for many
reasons like their striped skin, which is worth $10,000 in
the black market. Though the fur would be an incentive
for poachers, other parts of tiger can fetch pretty penny.
Some people in China and other Asian countries believe
that tigers parts have healing properties. Traditional
Chinese medicine calls for the use of tiger bones in some
prescriptions. Tigers have also been hunted for the sake of
thrill in 2 game. Humans have done considerable damage
through the destruction of habitat. Over the past 100 years
tigers have lost 93% of their historic range. A major
obstacle to preserve tigers is the enormous amount of
territory that each tiger requires. There is no way to
preserve the wild tiger population without making large
sacrifices. :

163. Which of the following is not a reason in the
paragraph explaining why tigers are hunted?

1) Because tiger’s skin is worth a lot of money.

2) Because tiger’s parts are used as medicine in
some cultures.

3) Because some tigers attack local villagers.

4) Because tigers are hunted for enjoyment by
some people.

164. Which number is closest to the estimation of the
wild tiger population in 20037

1) 3000 2) 1,00,000
3) 140 4) 30,000

165. Which best explains why tigers have lost so much
of their habitat according to the text?

1) Because humans are afraid of tigers.

2) Because tiger’s skin is very valuable,

3) Because humans have changed the land.

4) Because tigers need so much space to survive.

166. Based on information in the text, which best
explains why tigers are poached?

1) Poachers hunt tigers to protect their families
from dangerous animals.

2) Poachers hunt tigers for medicine to cure sick
family members.

3) Poachers hunt tigers to earn a large amount of
money.

4) Poachers hunt tigers because they enjoy killing
dangerous animals.

Q. (167-168) The following five sentences come from a



single paragraph. The first and last sentence are given.
Choose the right order in which the sentences (PQR)
should appear to complete the paragraph,

167. S1. While talking to a group, one should feel self
confident and courageous,

S2.
S3.
S4.
§5.Itis like the ability to play golf.

P. ltisnotasdifficultas most men imagine.

Q. One should also learn how to think calmly and
clearly.

R: Noris ita gift bestowed by providence on only a
few. .

Choose from the options given below:

1) RPQ 2) PQR

3) QPR 4). QRP
168. S1.Once king Shantanu met a fisher girt.

S2.

53,

S4.

§5. King Shantanu did not agree to the condition.

P. The fisherman agreed to it on one condition that
his daughter’s son should become the heir to the
throne.

Q. Hefell inlove with the girl.

R: He went to fisherman to ask for her hand.
Choose from the options given below:

1) RPQ 2) PQR

3) QPR 4) QRP

Q. (169-170) The following guestions have the second
sentence missing. Choose the appropriate sentence
from the given options to complete it.

169. A. In order to raise company profit, the employees
worked hard.

B.

C. However they offer to work over time without
any compensation.

1) They decided to raise the cost of raw material.
2) They decided to pay attention on quality.

3) They store and black market the manufactured
items.

4) They demanded two additional increments.
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170. A. Nothing comes out of nothing,

B.

C. Avperson who thinks that luck would favour him
without lifting his finger even, is living in a
fool’s paradise.

I) So, we should work hard.

2) Fate is supreme and cverything can be gained by
it.

3) So, we shouldsitidle and hope for the best.

4) We should not worry at all and pay attention
only for our welfare.

Q.(171-180)
171. Fill in the blanks with the most appropriate option
from the given alternatives.

The economic has affected our

sales tremendously.

1) Touch down 2) Showdown

3) Slow Down 4) Crack Down

172. Now the management graduate can expect to have
a life in the city.
1} Menial 2) Tedious
3} Boring 4} prosperous
173. Thevillage was by the earthquake.
1) Dazed 2) Razed
3) Fused 4) Bemused
174. The committee decided to a new
member in the organization.

1} appoint 2) commit

3) detain 4) suggest

175. Theteacher his students,
1) sarvived 2) laughed
3) berated 4) shunted

176. The gypsies do not live at a particular
place. :

1) broadly 2) willingly

3) voluntarily 4) permanently

177. She was remarkably in singing and

dancing,
2) cooperative
4) fluctuating

1) conducive
3) accomplished



178. following all the instructions
closely, he missed out an important guidelines.

1} Instead of 2) Inspiteof
3) Although 4) Otherwise

179. Google is one of the most popular search engines, it
is by the internet users.

1) utilized
3) effected

2) examined
4) flabbergasted
180. Hersilence wastakenas agreement.
1) concluded
3) tacit

2) aggravated
4} repented

Q. (181-185) Select the meaning of the underlined
phrase/idiom:
181. Being the head of a family, he finds it difficult
to keep his head above water.
1) Totakerest 2) Towork properly

3) Toavoid quarrel 4) Tosurvive easily

182. On the eve of inspection, everything was kept
in apple pie order.

1) Inrandom order 2) Inperfectorder

3) Carelessly 4) Timely

183. Land has always been an apple of discord between
two brothers.

1) Cause of quarrel
3) Cause ofill health

2) Cause of happiness
A)Cause of contentment

184. Mohan had to look high and low before he could

find his scooter key.
1} everywhere 2) nowhere
3) some where 4) always

185. We kept our fingers crossed till the final results
were declared.

1) feltscared
3) kept hopeful

2) keptpraying
4) waited anxiously

Q. (186-192) In the following passage, there are some
numbered blanks. Fill in the blanks by selecting the
most appropriate word for each blank from the given
options:

25

The term “broadband” refers to telecommunication in
which a wide band of .frequency is ready to send

(186) . 1t (187)___ users to (188)__
Internetat (189)___ speed than traditional (190)__ .
High-speed Internet allows users to (191) _ data
processing and high-speed (192)____technologies.
186. 1) Quotes 2) signals

3) alarms 4) clues
187. 1) agrees 2) disables

3) allows

188. 1) access
3) regress

189. 1) lower
3) regular

190. 1} keypads
3} monitor

191. 1) irregular
3) optional

192. 1) transferred
3) fundamental

4) instigates

2) digress
4) supress

2) higher
4) normal

2) mouse
4) modems

2) advance
4) general

2) transmission
4) transcendental

Q. (193-198) Choose the correct antonym from the

options given below:
193, Abdicate

1) Join

3} Abandon

194. Rectify
1) Bear
3) Validate

195. Respite
1} Break
3) Fatigue

196. Upheaval
1) Harmony
3) Miracle

2) Search
4) Advance

2) Correct
4} Destroy

2) Commencement

4) Continuation

2) Radical change
4) Dynamic



197. Change the voice:-
He kept us waiting.
1) We had kept waiting by him.
2) Wewere kept waiting by him.
3) Wehad been kept waiting by him.
4) Were we kept waiting by him,

198. Whois laughing at the beggar?
1) By whom are the beggar being laughed at?
2) By whom is the beggar being laughed at?
3) Whom are the beggar being laughed at?
4) By whom were the beggar laughed at?
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Q.(199-200)

195.

200.

Choose the synonym of the underlined word from
the given options.

It is very difficult to retain all that you hear in the
class.

1) keep
3) recall

2) preserve
4) conserve

The story is too fantastic to be credible.
1) false 2) readable
3) believable 4) praise worthy




